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QUESTION 1

You are asked to provide a design proposal for a service provider network. The design must ensure that
customers are able to send Layer 2 traffic between sites.

In this scenario, which VPN technology would be used to accomplish this task?

A. IPsec VPN

B. Layer 3 VPN

C.GRE

D. EVPN

Correct Answer: D

QUESTION 2

Click the Exhibit button.

B\ Exhibit

: Aggregation Tier Agg-1l Age-2

Access-1

Access Tier

— o e G S e —— e — —

Referring to the exhibit, you are designing a Layer 2 data center and you want to make sure that all the
links between the access tier and the aggregation tier are used.

What should you do to accomplish this task?

A. Use VRRP on Agg-1 and Agg-2.

B. Place Agg-1 and Agg-2 in a Virtual Chassis.

C. Use RSTP on all devices.
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D. Use BGP load balancing on all devices.

Correct Answer: B

QUESTION 3

What are two phases in Juniper\\'s lifecycle approach when designing a network? (Choose two.)
A. plan

B. build

C. buy

D. oversee

Correct Answer: AB

QUESTION 4

In your network design, you must ensure that all user sessions passing through an SRX Series device
remain active if there is a device failure.

Which mechanism will accomplish this design requirement?

A. chassis clustering

B. MC-LAG

C. Virtual Chassis

D. VRRP

Correct Answer: A

QUESTION 5

When implementing a top-down design methodology, where would you begin collecting information to start the design
process?

A. the CEO of the corporation

B. the Application Layer of the OSI model
C. the currently-owned network equipment
D. the WAN edge

Correct Answer: B
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